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INSTRUCTIONS TO CANDIDATES

Read the following iastructions before
you answer the questions. Answers are
to be given on a SEPARATE ANSWER
SHEET.

1. Please write your centre number and
Roll Number very clearly (only one
digit in one block) as  given in

your admission card. Please .see

that no block is left unfilled and
even zeros appearing in the centre
- code number and Roll number are

blocks in the booklet and on th
‘answer sheet.

correctly recorded in the appropriat&\\f

2. This test is in two parts. Each part
has 100 questions and each question
arries one mark.

Maximum Marks: 100
Maximum Marks: 100
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. Since all questions are compulsory,

do not try to read through the whole
question booklet before beginning
to answer it.

. Begin with the first question and

continue till you complete the last
question. Answer with the maxi-
mum speed. Since the time is limi-
ted you should make the best use
of it by got spending too much time
on any )ne question.

. Separate blank sheets have been

provided for rough work at the end
of each subject.

Remember you have to mark your
answers on a SEPARATE ANSWER

%HEET.

7. The answer sheet has two parts:

12

Part I and Part II corresponding to
Part I and Part II of the test booklet.

Part I is compulsory for all. In
Part II you can choose any FOUR
subjects out of the eight given.

Before marking the answers of a
subject, you have to write the name
of the subject and its serial number
as given in the question booklet
at the top of the column in the
answer sheet. Answers under colu-
mns where the subject with its serial
number has not been filled in will
not be counted towards your score.

. Answer to each question is to be

indicated by encircling the number
of the correct alternative in the
answei sheet.

. If you find later that any marking is

incorrect, you may blacken that
circle and mark the correct answer._

Do not write your name on any
part of the question booklet or
the. answer sheet.
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DIRECTION

In questions 1 to 10 there are five
groups of letters in each. One of these
groups is different from the rest in some
way. Find the one which is different.

1. (1) MOQS
(2) KMOQ
(3) IGEC
(4) BDFH
(5) TVXZ

2. (1) TPLH
(2) HDZV
(3) GCYU
(499 NJIFB
(5) LJHF

3. (1) AJSB
(2) IRAJ
(3) UDMV
(4) EOYI
(5) OXGP

4. (1) GNUB
(2) PIBU
(3) MTAH
(4) JQXE
(5) SZGN

5. (1) TREE
(2) AYLL
(3) GERR
(4) CANN
(5 MOBB

6. (1) AFIM
(2) MQTV
(3) HMQT
(4) DIMP
(5) QVZC

mIda’eswe
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1. (1) MOQS
(2) KMOQ
(3) IGEC
(4 BDFH
(5) TVXZ

2. (1) TPLH
(2) HDZzZV
(3) GCYU
(4) NIFB
(5) LJHF

3. (1) AJSB
(2) IRAJ
(3) UDMV
@) EOYI
(5) OXGP

4. (1) GNUB
(2) PIBU
(3) MTAH
(4) JQXE
(5) SZGN

5. (1) TREE
(2) AYLL
(3) GERR
(4) CANN
(5) MOBB

6. (1) AFIM
(2) MQTV
(3) HMQT
(4 DIMP
(5) QVzZC



7. (1) KLNQ
(2) MNPS
(3) WZCD
(4 DEGJ
(5) CDFI

8. (1) FILO
(2) RUXA
(3) PSVY
(4) HKNQ
(5) WZCE

9. (1) LKJI
(2) USQO
(3) QOMK
4 MKIG
(5) YWUS

10. (1) ABGH
(2) XYCD
(3) MNST
(4) KLQR
(5) 1JOP

DIRECTION

In each of the questions 11 to 20
there is a letter series with one term
missing as shown by (?) Find the term
from the five alternatives given.

11. AXOWS, CYNSR,
GALKP, (7).
(1) IBLGO
() IBMLQ
(3) IBMGQ
(4) IBKGO
(5) TBKLO
12. STVFH, RWXDI, (?), PCBZK,
OFDXL. |
(1) QYYCJ
(2) QZYBIJ
(3) QXZCJ
(4 QYZBIJ
(5) QZZBJ

EZMOQ,

7. (1) KLNQ
(2) MNPS
(3) WZCD
(4) DEGIJ
(5) CDFI

8. (1) FILO
(2 RUXA
(3) PSVY
(4) HKNQ
(5) WZCE

9. (1) LKIJI
) USQO
(3) QOMK
4) MKIG
(5) YWUS

10. (1) ABGH
(2) XYCD
(3) MNST
4) KLQR
(5) 1JOP

m1d3°a3we
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11. AXOWS, CYNSR,
GALKP, (7).
(1) IBLGO
() IBMLQ
(3) IBMGQ
(4) IBKGO
(5) IBKLO
12. STVFH, RWXDI, (?), PCBZK,
OFDXL.
(1) QYYCJ
(2) QZYBJ
(3) QXZCJ
(4 QYZBJ
(5) QZZBJ

EZMOQ,



13.

14.

k5

16.

17.

EAGLE,
USKHQ.

(1) QXJIN

(2) QVIKN

(3) QUIJIN

(4) QYDN

(5 QUIIN

MRAKU, NTCMW, (?), PXGQA,
QZISC.

(1) OVEOQY

(2) OVDPZ

(3) OUDOY

(4) OUEOY

(5) OVDOZ

FPQAL, (?), HNUEN, IMWGF,
JLYID,

(1) GOSCG

(2) GOSCJ

(3) GOSBG

(4) GORBJ

(5) GOSCK ;
BZQIM, CYTGP, (?), EWZCV,
FVCAY.

(1) DXVES

(2) DXWDS

(3) DXWES

(4) DXVFS

(5) DYWES

FIFTH, HOHYL, JUJDP, (?),
NENNX.

(1) LALIT

(2) LALJT

IYHKH, MWIIK, (?7),

- (3) LALIS

(4) LALIJS

A8, EXEIT
18,

(79, QXMBH, RWKDK, SVIFN,
TUGHQ.

(1) PYOAE
(2) PYOZE
(3) PYNZE
(4) PYOAF
(5 PYNAF

14.

o2

16.

b

18.

. EAGLE,

IYHKH, MWDK (?)
USKHQ. |

(1) QXJIN

(2) QVIKN

(3) QUIJIN

(4 QYUN

(5) QUIIN

MRAKU, NTCMW, (?) PXGQA,
QZISC.

(1) OVEOY
(2) OVDPZ
(3) OUDOY
(4) OUEOY
(5) OVDOZ
FPQAL, (?),
JLYID.

(1) GOSCG
(2) GOSCJ
(3) GOSBG
(4) GORBIJ
(5) GOSCK
BZQIM, CYTGP, (?), EWZCV,
FVCAY.

(1) DXVES

(2) DXWDS

(3) DXWES

(4) DXVES

(5 DYWES

FIFTH, HOHYL, JUIDP, (),

NENNX.

(1) LALIT

(2) LALJT

(3) LALIS

(4) LALJS

(5) LYLIT

(9, QXMBH, RWKDK, SVIFN,
TUGHQ.

(1) PYOAE

(2) PYOZE

(3) PYNZE

(4) PYOAF

(5) PYNAF

HNUEN, IMWGF,



19;

20.

COVER, BQYIW, ASBMB,
ZUEQG, (7).

(1) YVHUL
(2) YWHUM
(3) YWHVL
(4) YWGUL
(5) YWHUL

CUNTY, (7, METVA, RJIWWB,
WOZXC.

(1) GZQUZ
2) IYQUZ
08l° GZIPUZ
(4) HZQUZ
(5) 1YPUZ

DIRECTION

In each of the questions 21 to 30

there is a series with one term missing as
shown by (?). Find this term from the
" five alternatives given below.

2k

234

1,1,2,4,7 (2,24, 4.
¢
2) 15
(3) 14
4 13
(5) 20

. 1,2,4,6,7, 10, 10, (7), 13, 18.

(1) 11
() 14
(3) 13
@ 12
(5) 15

1iVls 3,78, 117 €7), 148,185
(1) 19
(25 22
3) 21
(4) 20
)28

19. COVER, BQYIW, ASBMB,
ZUEQG, ().

(1) YVHUL
(2) YWHUM
(3) YWHVL
4 YWGUL1
(5) YWHUL

20. CUNTY, (?), METVA, RIJWWSB,
WOZXC.

() GZQUZ
) IYQUZ
(3) GZPUZ
(4 HZQUZ
(5) IYPUZ

m1ds°eswe

21 ayo@ 30 asen calogiomlenas
& (LM & 81 md m’]gécsn_locw alBo (?) agom
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21024 700
1 11
() 15
3) 14
@) 13
(5) 20

22, 13,476 110 10, (), 13,18’
(1) 11 .
) 14
3) 13
4) 12
(5) 15

23718923 751 1 o, 43,185
(M 19
() 2
(3) 21
(4) 20
(5) 23



24,

25.

26.

20

28.

3, 9, 18, (2), 45, 63, 84,
(1) 20
Q) 35
(3) 30
@ 25
(5) 40

1, 1, 4, 3, (7). 6, 16, 16, 25.
() 7
2 10
3 9
4) 8
(5) 11

1,2, 5,10, 17, (2), 37, 5.
(1) 27
) 24
(3) 25

' (4) 26

(5) 23

2 17, 3 15, 4728:5. 146, 9, T,
1 3
(2 6
3) 5
@) 4
5) 7

B W O O N o N e
(1) 4
@ 7
(3) 6

@ s

(5) 8

PR A B TR R XN e e v A L I

(1) 41
(2) 35
3) 37
4 39
(5) 33

24,

25,

26.

28,

29,

(1)
)
(3)
@
3

1, 1, 4, 3, (D, 6, 16, 10, 25,

(1)
(2)
(3)
4)
(3

1, 2,5, 10, 17, (7). 37, 50,

(1)

3,9, 18, (1), 45, 63. 4.

20
35
30
25
40

7
10

9
8
11

27

(2) 24

(3
@

25
26

(5) 23

(1)
(2
(3)
(4)
&)

14

(M)
(2)
3
)
()

36, 0, 13,00, 20 2 (D),

(N
(2)
(3
4)
&)

~N b oW

2!
4
V)
6
5
8

41
35
37

39
33

3478716

. 2,17,3,15, 4,13, 5, 11, 6, 9, 7 (7.



30. 1, 10, 11; 100;-101, 110, 111, (?).
(1) 1000
(2) 1100
(3) 1010
(4) 1001
(5) 1011

DIRECTION

The following ten questions are
based on letter series. In each, some
letters are missing. Find the missing
letters in proper sequence from the five
alternatives given. ‘

R T,

3 c-ica-cd-=abd
(1) abcab
(2) abbbc
(3) abbac
(4) abacc
(5) ababc

32. mnn--mn--mmn-nm
(1) nmnnn
(2) mnnnm
(3) nmmnm
(4) nmmnn
(5 mnnmn

33. p-qi-rpg-rr-pg-rr
(1) qrrqq
(2) prqrq
(3) prarp
(4) qrqrq
(5) prrqq

34. a-bn-aa-bn-aa-bn
(1) anaaa
(2) annna
" (3) anana
(4) annaa
(5) annan

30. 1, 10, 11, 100, 101, 110, 111, (?).
(1) 1000
() 1100
(3) 1010
(4) 1001
(5) 1011

mI1d3°eawe

DIOE B0 LA AlOM) CAlOBLETBT BDSHD
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31. c--ca-ca--abc
(1) abcab
(2) abbbe
(3) abbac
(4) abacc
(5) ababe

32. mnn - - mn--mmn-nm
(1) nmnnn
(2) mnnnm
(3) nm mnm
(4) nm mnn
(55 mnnmn

33. p-qr-rpg-rr-pq-rr
(1) qrrqq
(2) prqrq
(3) prarp
(4) qrqrq
(5). prrqq

34. a-bn-aa-bn-aa-bn
(1) anaaa
(2) annna
(3) anana
(4) annaa
(5) annan



35,

36.

37

38.

39

40.

cd-c-dcc—~dd-cce-d

(1) cddcc
(2) cdedd
(3) ceddc
(4) cdddc
(5) cdcdce

XX=Yyy—X-yyXX-Yy-X

(1) xxyxx
(2) xyxxy
(3) xyyyx
(4) xyyxx
(5) xyxyx

pp-qrp- -qrpp—-qrpp-qr

(1) 9ppqq
(2) 9pqpp
(3) qpgpq
4) qpqqq
(5 qpqqgp

aa-ab-ba-ab-aa-a

(1) abbab
(2) abaab
(3) aabba
(4) ababa
(5) ababb

XY—X—-Xy—-y-XX-XX

(1) yxxyx
(2) yyxxy
(3) yxyyx
(4) yXxxy
(5) yyyxx

mm-nnp-m-mn-n-p

(1) mnnpp
(2) mmmnp
(3) mmnnp
(4) mnmpp

(5) mmnnn

35,

36.

37

38.

39:

cd-c-dcc-dd-ccc-d

(1) cddcc
(2) cdedd
(3) ccdde
(4) cdddc
(5) cdcde

XX—yy—X-YYXX-yy-X

(1) xxyxx
(2) Xyxxy
(3) xyyyx
(4) xyyxx
(5) xyxyx

Pp-qrp- -qrpp-qrpp-qr

(1) qppqq
(2) 9pgqpp
(3) qapapq
(4) qpqqq
(3) qpqqp

aa-ab-ba-ab-aa-a

(1) abbab
(2) abaab
(3) aabba
(4) ababa
(5) ababb

XY—X=Xy—-y=XX—XX

(1) yxxyx
(2) yyxxy
(3) yxyyx
(4) yxxxy
(5) yyyxx

. mm-nnp-m-mn-n-p

(1) mnnpp
(2) mmmnp
(3) mmnnp
(4) mnmpp
(5) mmnnn



DIRECTION

In questions 41 to 45, digits do not
carry their actual values., These values
are given according to some pattern.
Examine these figures and values and
select the correct answers from the alter-
natives given below each question.

sl 31, 4=5,
then 8=7?
(n 17
8 21
(3) 20
4) 18
(5 24

5=9 and 6=13,

42. If 3x4x8 = 843,
7x1x8 = 817 and
5%2x%9 = 925 then
4x5%x6 = ?

(1) 120
(2) 645
(3) 564
(4) 546
(5) 654

43. If 4x5=80,
6% 7=252 and
5%x9=225 then
8§x2= 17
(1) 16
2 128
(3) 64
4 32
(5) 256

10

mIdz’eswe

41 oyo@d 45 aen ealosiBslec) @naes
BToBe° BROIWIOS ®LOIB® LD anelwegy,
MUOBHEI A1 m’lm@gom‘sggfm“. 0o asled
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2J96m° M1V 10180 M® . 8060 calday
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41. 3=1, 4-=5, 5=9, 6=183 agomy
cmcm’]m’lcem&cm& afdlod 8=7

(1) 17
() 21
(3) 20
@) 18
(5) 24

42. 3x4x8=843
Tx1x8=81T7
5x2x9=925 agmmy ®mIoymmomd
43 b X6 =" 7
(1) 120
(2) 645
(3) 564
(4) 546
(5) 654

43. 4x5=80,
6 x T=252 agmyo
5x9=225 agmyge @mIaimmomd
8x2= ?
(1) 16
(2) 128
(3) 64
4 32
(5) 256



44. If 3+4 = 25,

4+7 =65 and
5+7 = 74 then
7+3 =172

(1) 21

(2) 63

{3).. 52

(4) S8

(5) 147

{I

45. If 4+5 = 39
5+6 =89 and
6+7 = 157 then
7+8 =1
(1) 128
(2) 279
(3) 196
(4) 113
{3 39

DIRECTION

In questions 46 to 50 the numbers in
the squares are filled on the basis of some
rule. One square has a question mark.
Find out the correct number from the
given choices to fill in that square.

- 46. 3t AT
4 |5

I e e
{11
@), 8
(3) 16
@ 11
(5) 12

44. 34+4-=25
44+7=65 _
54+ 7=T4 agmy @mmI@yamocd

(5) 147

45. 4-+-5=39
5+-6-89
6+ 7=157
Te8= 7
(1) 128
(2} 1209
(3) 196
(4) 113
(5)i351

@O

m1ds°6rWe
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46 . 3l 45497

4715100

5-1 61
(L 7
2) 8
(3) 16
@ 11
5 12

11



47.

48.

49.

50.

12

(1)
(2)
(3)
(C))
()

6]

@

(3)
4
&)

(1)
)
(3)
C)
&)

(D

(2

(3)

@

(3

18

11
17

Lh

=]

[PV I S = |

10
14

3 13 9
17 11 14
12 ? 15

it

5 4 7
3 ? 8
1 9
3 19
? 11
o 29
3 11
4 11
7 11

47.

48.

49.

50.

(D

@) 8

3
4
&)

(D
©)
3
4
(©)

(D
2
(3)
“
(5)

(1)
2
3)
4

®)

IT
17

(PSR e = R |

selijeliog
TR TR
e e
s 14
3l
Gy
i P TR
% i T
4 4 29
%701
11
S0 R




DIRECTION

Each problem numbered 51 to 55
consists of a figure of 9 cells in three
rows and three columns. Examine the
first row carefully. You can see that the
patterns ‘given in the three cells follow
some law. The same is true of the rows
2 and 3. You can also see that a definite
relationship exists in the patterns of the
three cells of the same vertical column.
Find out which of the four patterns
given under the figure will suit the cell
indicated by the question mark in the
last row.
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DIRECTION

In each of the following five questions
you can find a set of figures. In each set
each figure deffers from its neighbour in
accordance with a certain trend. Find
out which of the given four figures
will suit the place indicated by the
question mark. '
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DIRECTION

: Each of the following problems
~ numbered 61 to 70 consists of two parts-

two squares on the left hand side and
two squares on the right hand side. The
* left hand part consists of two squares
with figure inside connected by a certain
relationship. Find out this relationship
and apply this to find out the missing
figure in the right hand part of the pro-
blem. You may assume that the rela-
tionship that exists between the two left
hand squares holds for the two right
hand figures as well. You are required
to find out the figure that is to go into
the square indicated by the question
mark. Four answers are given against

each problem. Select the correct
answer for each.
61. Problem
R
i ol b
Answers
3 < >
(1) (2) (3) (4)
62.
Problem
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AnSWEII‘S

e I

(1) (2) (3) (s
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63.

64.

65.

66.

67.

Problem 63 Proklem
Answers Answers i
G (2) (3) 4 (1) (2) (3) 4
Problem 64 Problem '
L e 4G
Answers Answers :
© U’| JriC ©| |IF | 9D]4C
(1) {—2—)' (3) (4) G0 (2) (3) (4)
65
Problern Problem
M| | 2 XU | 2
Answers Answers
) X 0 )| |©|
(31} (2) (3) (4) 66 (1) - (2) = (4)
Problem Problem
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68 Prcblem
m 8] A
Answers
2 v N
(1) (2) (3) (3)
" 69 Problem
« P (u]’
Answers
BIE
(1) (2) (3) ()
20 Problem
(o EE
Answers
Enpan A NAE]
(1 (2) (3) (4)
DIRECTION

Problems 71 to 80 are presented
each in the form of a figure divided into
nine small squares of three columns and
three rows. The designs in the different
squares obey certain laws. You can
find out the law that connects the designs
in the first and second rows. You may
assume that the laws hold for the third
row as well. In the third row there is &
square containing a question mark. You
are required to find out the design that
will fit into that place. Below the
problem, four possible answers are given
from which you can choose.the correct
answer of that particular problemi.
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The problems can. be done in another
way. You can consider that the figure

is formed by three columns of three

squares each. You can examine the
designs and find out the law that connects
the designs in the left hand ard middle
columns. Applying the same law to
the right hand column, you can find out
which of the four given designs will
suit the square indicated by the question
mark.
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DIRECTION

In questions 81 to 85 the word
FOUR is written according to some
code. Using the same code the word
TIME may be written. From the five
alternatives given under each question
find the correct one.

81. FOUR is written as GNVQ, TIME
may be written as
(1) SHLD
(2) SINF
(3) UIND
(4) SHLF
(5) UHND

82. FOUR is written as MORE, TIME
may be written as
(1) BIJR
(2) ALS
(3) AIJR
(4) AIKR
(5) BIJS

79.

@ICH &;
o] Br6

80.

ANV
NA N
i

A
V4
W
0
4

@) (3 “)

mda’erwe

81 oym@d 85 aloNW)88 calodiers1od

"FOUR ag0m Qiode’ 80) eI edan @MY

aulafoem® ager@lRIolesanm”. @R
e500L° @MIaVETal’ TIME afim a10se”
ag)® MO ®9GMI  ecasaziom]
oMo®)e 851010  OHIS)EM5I8s Eve=”
OOmMsTRE10) VO] WORMY HeNel ni1S18e 18,

81. FOUR 2)M®° GNVQ aam® ageiamo
ons:10 TIME afno®° agf)9)ecmeso’
(1) SHLD
(2) SINF
(3) UJND
(4) SHLF
(5 UHND

82. FOUR agMm®° MORE afin® ag9i@o
o0& 100 TIME aganm® ag)wéermmgm“
(1) BUR
(2) AlIJS
(3) AR
(4) AIKR
(5) BUS
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83. FOUR is written as NINE, TIME
may be written as

(1) BCFR
(2) BDFR
(3) BCGR
(4) BCFS
(5) ADGS

84. FOUR is written as ISZX, TIME
may be written as

(1) WNRL
(2) WMRK
(3) WNRK
(4) WMSK
“(5) WMSL

85. FOUR is written as EPTS, TIME
may be written as -

(1) SKLE
(2) SKMF
(3) SILE
(4 SILF
(5) SKME

DIRECTION

Questions 86 to 88 are based on the
following figures. The three figures show
the three views of a single cube.

/’\\

L

@) @ (3

86. What symbol is opposite to the dot?

(1) Circle
(2) Triangle
(3) Square
(4) Crossgle
(5) Star

22

83. FOUR agym®° NINE agMm® ageimd
00810 TIME amm* afylcoaeo
(1) BCFR
(2) BDFR
(3) BCGR
(4) BCFS
(5) ADGS

84. FOUR agmm° ISZX agam®  ag)9y®md
oo®10 TIME agmm’ ageicmsneom”

(1) WNRL
(2) WMRK
(3) WNRK
(4) WMSK
(5 WMSL

85. FOUR agmm®° EPTS agim® agey@o
008103 TIME af)inm° af)e)emenem®
(1) SKLE
(2) SKMF
(3) SILE
(4) SILF
(5) SKME

m1dr’c3we

86 oymad 88 alonW)88 ©aloBEBTe
@moaY mMI5I88 all(®aBeg @RS L0om
aas&mﬁwéggmam". @gamy all (Mo
860 (& JNI16M0) MUDAIMIVBISRLOS Al
TV DYOUDBOS M 1B .

) (2) (3)

86. enlmraem ag@®1en®I8s allan’mo
ag@moem® ?

(1) augomo
(2) (®™esoem.
(8) vaaimyoe
(4) e(@aqume
(5) amv°000d



87. What symbol is opposite to the
cross?

(1) Circle
(2) Triangle
(3) Square
(4) Dot

(5) Star

88. What symbol is opposite to the

square?

(1) Circle
(2) Star

(3) Triangle
(49) Dot

(5) Cross

DIRECTION

Questions 89 to 92 are based on the
figure below. The 6 cm cube shown in
the figure is made up of pieces 1 cm
thick, 2 cm wide and 6 cm long. Each
block is painted in three colurs,red, blue,
and yellow according to its position
as shown in the diagram. The top side
of each block is red and the bottom
side of each piece is blue and the vertical
sides are yellow.

89. How many 1 x 2 x 6 blocks are there
in the 6 cm cube?

(1) 15
(2) 27
3) 24
@) 18
(5) 36

87. cw;ocm’lm“'ag)m’larow&gg allan®mo
ng;rmosm“?
(1) augome
(2) (™lemoems
(3) MUDAIMIOo
(4) N0z
(5) amvlo0ad

88. muaalmyoomIm® af) o0 88

aNan’Me ag@moem® ?
(1) asgome

(2) M000d

3) (@ @Ho6M o

(4) eni108)

(5) G(Homu’

m1d3°c3w0e

89 pyo@ 92 aleoW B8  Galod KRBT
@09% o:ISITMISI8s8  all(@eeDm  @0s]
ML LO0OMEeg{S oG 88moemY.  afl (o] ed
@0 afle1eo mm 6 eqv. al. a&igenu® 1
o, @1. SHMe, 2 eu. ol. aflel, 6
amu. a1, MI8D188 &auMEBTe @0’ M1d
o) al1eleeiam) . 630600 CORJODN ) BB o
anaigy®, mled, @6 a1 @y M106IEe
a®oeme’ ea11Me’  eal‘®lolesiamy.
all (oo od :9:067\')']1:_:,_]'](0’]:86\&“1’) (adHOMo
@RS @61 RT0TBe M  CRJIBH LNHBLOS avLnl
@1 @MILEIal’ 8060 GERJISHTEMOW .
DYSE 0RO  allalgle @RSTAIW. mlelwio
a0l AIEBEIC) BT ie @RYSM®.

89. (awv’mym 6 emv. al. &yImnIod
ag)(® 1 x 2 x6 copjoas )& Qeme®?

(1) 15
Q) 27
(3) 24
4) 18
(5) 36
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90. How many square cms of block are
painted blue?

(1) 150
(2) 256
(3) 210
4 180
(5) 316
9]1. What is the largest number of faces

of other blocks touched by the faces
of any one block?

1 8
) 15
(3) 13
@ 1
(5) 16

92. How many square centimetres of
“blue surfaces are touching red sur-
faces?
(1) 9%
(2) 196
(3) 144
(4) 108
(5 216

DIRECTION

Below is given an arrangement of
letters while some spaces are left blank in
which numbers 93, 94, 95, 96 and 97
are written. Study the arrangement and
find out the letters which will correctly
fill the spaces numbered 93, 94, 95, 96
and 97.

Avl Qe B .84 97

N1 94| R| H|'W

B L 0Q-1 G | 9% },.L

P66 1] &Y

RAE S R g Y
S

24

90. cRJoBe ) dB10d @RS af)(® al. OHOV.
al1000sem® mleimlo. sm_lmﬂn%% Al
) @”m’lm’l.ﬂeémm"?
(1) 150
(2) 256
(3) 210
(4 180
(5 316

91. a@&fm&’]méu am&_eegc;om’lamn@onm&o
&ISIOT DO0Y CORJOBHISBIOS af) (@
QB MV aldUaflmlseegany ?

1 8
@ 15
{3) 13
@ 11
(5) 16

92. mles Mom8s a1EBR1E ag)(® aldy
o oav al. ajlalajimlon8s Qi
OBO8 MV aldu]esymy ?

(1) 94
(2) 196
(3) 144
(4) 108
(5) 216

m1d3°erwe

@EPAUOBBRIOS B0 ATMIOMV., MOOY
05101180 MY,  Som 1@ allel qvloel
38100  EPeMOERTe  I15)enl101g me”.
alémo 93, 94, 95, 96, 97 agam® agy@Iw
1BayMy. DD ATMI0Me MU (UB°Wo aldlal
ctonre 93, 94, 95, 96, 97 agM quo.auy
&), alhDo AIGOENE ERAHUVTBT HENB),

al1saa)d.
A 8] D S 97
N 94 R H w
Bal O 6. | 9] 4
P 96 " K Y
E T J 93 M




93.
(1)
)
(3
4)
(5)

X T <0

9%.
(1)
)
3)
(4)
&)

X m=< 0

95
(1
(2)
(3)
4)
&)

ol - e <K &)

96.
(1)
)
(3)
4
&)

X =<0

97.
(D
0)
&)
C))
5)

X =<0

DIRECTION

In questions 98-100 there is a
number missing in each of the patterns
which is denoted by (?). Find the missing
aumber from the five alternatives given
at the bottom of each question.

93
(1
(2)
(3
4
&)

9%.
(1)
)
&)
“
&)

o Bt~

Kt e €

95:
(1)
(2
(3)
S
&)

96.
ey
(2
€)
“4)
(5)

o = <)

o gt < %

97.
(D
(2
3
C)
(3

XKT=<0O

m1d3°eawe

98 pymed 100 aienwi8s cai0a3 608810
@0GooaNTEIle B0CE0 MUoeuy AllDe algy
cato1gyaamleom (7)) g  allao®me
eddeme’  augallalalloleeyomy. 60CMmI
gal0a OmeMO)e  BSIaI1a manlg 88
@peml’  oomosmglodmlon® allgiealow
MLotUy RO’ HEMBLal1S1ee .
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98.

T 10 5 10
(1) 69 | 1) 69
(2) 110 ; (2) 110
(3) 101 (3) 101
4) 96 4) 96
-(5) 121 (5 121
99.
6 5 -
1 13
7 1 13 2
' (2) ) (4) o R . 2
Ll | (1) 20
2 17 ; (2517
(3) 18 (3) 18
20t @ 19
100.

4 10 6 4 10 6

7 34 27  f 34 27

18 23 (7 ' 18 23 (@)
() 38 (1) 38
@ 8 : 2 8
§3. 19 3) 19
4 20.....% 4 20

35 5 s
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. If log2=0.3010and log 3=0.4771,

what is the value of log 1.5

- log 2=0.3010, log 3=0.4771

ERYXVOTY log 1.5 emo arles agon®?

1.::0. 7981 1. 0.7781
2. 1.7781 2. 1. 7781
376 3. 1.1761
4. 0.1761 4. 0.17611

. If k sin x=p What is the value of

+ k sin Ei=h @R)XWO0d cos x M0 aley

cos x? agom® ?
k? —p ‘,k’—-—p’
2 “;?2 2.ﬁg;ﬂ
k
3 L pilys
k*—p W=
B ey 4 ikt =t gl
P P

. Rema obtained the following per-

centage of marks in an examination.

. 0@} laTw allaunwasglcd @151

@ 0dsEe” oey a&.oa&m’lm’lm&«n&.

Economics 60 WM INRITVE (M 60
Mathematics 64 wemmwomuY (@ » 64
English 62 aDoglan” 62
Science 65 auadm® 65

If the weightage alloted to these
subjects are 1,2,3,2 respectively, what is
the weighted mean of the marks?

00 A1AMQEDBOEN), HBHISIEN LN HAIW]
co0r’ Wo(Hmmoe 1, 2, 3, 2 aresms)od
@RAIWIOS HAWTO0AWY DOWSe ®HISM Y.

1. %13
p B
83
4, 53

. The average of 11 numbers is 442-

If, one number is added as 486
instead of 464, what is the correct
average? s

1. 484
2. 437.6
3. 444

4. 440 6

) e
3. -63
3. 83
4. b3

. 11 aVosu @IS @OWSe 442. MUoBy

>0 BHIFIWeEq [0t 464 agm@IMY
alde 486 agim) ™00 caidoo]
@AOMOTE WVOTVWIW BIWIe agfa®”?

1. 484
2. 437.6
3. 444
4. 440 6
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5. A solid hemisphere is bisected by
cutting it through a diameter seg-
ment of its flat surface. What is
the total surface area of each piece
if the radius is ‘r’?

Ly

AT |
3.0 dox?
4. 13nr?

6. If P=11,2} and Q = {2,3}, what is
- (PNQ)xP?

((1,2), (1,3), (2,2), (2,3)

1(1,2))

{(2,1), (2,2}

(1,1), (1,2), (2,1), (2,2), (3,1), (3,2)}

W N -

7. The first term of an AP is 6 and its
common differnce is that of —2, —4,
0, 5....Find the 16th term.

LR
2.l
321
4. -1

8. If a*, a” and a°® are in G.P., Which

of the following is true?

2log y=log x+logz
2 logy= zlog x
logy = 2log (x+2) .
log 2y =log (x+2)

BW N -

9. Choose the expression equal to
1

sec §—tang -

1. cos § —cotg
2. sin § —cotg
3. sec§ + tang
4. sec § —tang

" sech) —tanf

. 'r' eRoe1es  80dswewIgemienio

aJloam DU 16080 (L JOTLGO6LC
sueM Lo 1ed @hys) @ lem @20724"
ENB), MPBJY BINDBBIBHIIM].  BOGAO
BINODTOMOIo Dalol®mer alau’®id

§R° agm® ?
1. 2

2. 8nr?
3. 2xp?
4. 1*7?1-2

- P=11,2}, Q=1(2,3] agmch

(PNQ)xP agm*?
Ly, (1.3), @3, (2.9
2. {(1,2)}

3. ((2.1). (2.2)]
4{(1.1). (1.2), (2.1). (2,2), (3.1) (3.2)}

- 80) VDTN G(add(armMIsel (CIOTERY

a3 6.  @ERMIOMo Salom) Al oMo
—3 —;,, 0, Frooee aam 6 (ald(Wauedo
HIOM, U@ PIVEM MY @1l moesm
&1 ERELOED G(ald(Waredo 16.00
alBe ag®m®?

b R ¢
L s Fi
< P 1|
&5, =]

- 8% a’, a® DI &0} MLAWEEMI® G(alo

(Dauemo  M)SAaow @IONY 3608
80WOMY, allaiens O30S O ISIBS  (ad
M MM agmoemy) o1 ?
1 210g)f=logx+log2
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10.

11

12.

13;

14.

What is the degree of the polyno-
mial obtained by multiplying
2x%+x2+1 with 4x2 +6x+7?

R

2. n
S
4. 6

. The (n+1)th termof an A.P. is m

and its (m+1)th term isn. What

is its common difference?

kg < P
=
|
=

Square ABCD is inscribed in a circle.
P is a point of the minor arc DC.
What is the measure of .~ BPC?

U PO S
H -
253G

Factorise x* — 81 into prime polyno-
mials.

1. (x249) x2—9)

2. (x249) x+3) (x—3)

3. x—3)(x—3)(x—3)(x+3)

4. (x+3) (x+3) (x+3) (x—3)

If the sum to n terms of an A.P.
is 2n%? +n, what is the progression?

1. 23.:10,:21, %s
P W e e, (A

% o, T I feE

4. 1,3,10,21, --.-

10.

185

12.

13.

14.

2
8. (x—3) (x—3) (x—3) (x+3)
<

2x3+x24+1 6m 4x246x+T7 odere)
mgemlal)y SI5EM  eatoglemoniwer]
oMo &g agom® ?

B W N -
O =1 oW

80) TLOIDO Gt (NaUe MmO (n+ 1)—0o
ai8o m @RYHIANY . B THMO (m + 1)——oo
alBo pn @ERWOIT  OAIIMYAI LD LITL
aamm® ?
I i | {
2. X1 o

2

3. m=-—n

R

80}  Olgomom1od TVRAIMY®s  ABCD
@DOMACLIELM o an.:ma”rm’ko’]mymg.
ejellaidals PDC @aed }0) sm’laa(i,
a106m® P agy@1@ / BPC ag(®?
15515

21260
3. 45
4 L 20

x* —81 em @reory catoglemonlw

E11BHBOWT  LISHDBIOB 1o .

1. (x2+49) (x*—9)
(x*+9) (x+3) (x—3)

(x+3) (x+3) (x+3) (x—3)
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15.

16.

754

18.

19.

36

If (x—3) is a factor of
2x® —kx? —2x—3, what is the value
of k?

e
3
o)
17
3
5

What is the area of a triangle whose

I.
23
.
4.

angles are in the ratio 1:2:3 and the -

measure of the longest side is 16cm?

1. 322 cm?®
it e
3.l
4. 1647 .,

AD and BC intersect at O. If
AB ||CD, which of the following is
true?

1. AO.OD=BO0O.OC
2. AO.0B=DO0.0C
3. AO.AB=DO.DC
4. AO.DC=B0.0OD

If O<A<90 which of the following

is equivalent to —sin A?

sin A
1. tan A. cos A
2. cot A. sin A
3. cot A. cos A
4. tan A. sin A

The height of a cone is half of its
diameter. What is the ratio of the
volume of this cone to that of a
hemisphere of the same diameter?

1:3

AW N -

2:3
152

15.

16.

17.

18.

19.
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AD ®)o BC @30 0 @1®3  suem®aw)
IIML. AB || CD @o®odd  mose
930S 01518801070 111 wow {1
TL°MOUM agam® ?

AO0.-0D=B0.0C

AO.-O0B=D0.0C
AO-AB=DO0.DC
AO-DC=B0.0D

W

0<AKCI0, eoodd —
sin A

mj"m& MLRIMBIV®°  agan® ?

1L ey e

— ¥sin A

Cos. A"
cot A. sin A

2
3. ‘cot ‘A- cos A
ol BT oA i A

803 aljomruieallsnies  gmmo
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20.

2L,

22

The measures of angles of a pentagon 20.

ABCDE taken in order are in
Arithmetic Progression. If /. A=72°
what is the measure of angle E?

1. 108

2. 150
3. 144
4. 120

Choose the median of the following  21.

distribution

Class Frequencey

0-9 16

10-19 23

20-29 35

30-39 . 24

40-49 17

50-59 5
N =i

I - 25

A o

.- 25.78

4. 237

The measure of each angle of a
regular polygon is (90+x)°. How
many sides has this polygon‘?

1. 360
;90—X
2.2 Sl
*=-180
3. 360
180—x
4. 360 -
x—90

22.

ABCDE agy™ olemiei 200160 Cooem
SAYHTe  (HOMNIVT VDTN G(ald(L

anmlenem®. /£ A=T72° @eowocd /[ E
ag)(@®?

1. 108

2. 150

3. 144

4. 120

IOY 6305 ) O 1D 1HO LM BOY BRI §O ]
g1H1GIMIM  agooails  Gwomlay
2IWIMD  BeM.Ya 1S 8016 .

(n10a1°DoBo @R § O]
0— 9 16

1019 23

20 —29 35

30 —39 24

40 — 49 17

50 — 59 5

N=120

1. 26

2. 25.5

3. 25.78

4.% 296.9

B0Y, TVMENINOLRLROD OO B0Y CBO
samleamo  @osal’ (90+_\-)° @M’ .
MY NUa0) @1 ROM MO AEBRBLOS
'ng)gmam(rm? :
360
90 —x
360
2. & g0
360
180—
360
x—90
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23. Inrhombus ABCD, AB=AC=x¢cm.

24.

23,

38

What is its area in cm?2?

1. x2J3

2..x2.283

3. x243

: 4

4 x23
2

The centre of a small-circle of a
sphere is 8 cm away from the centre
of the sphere. If the perimeter of
the circle is 307 c¢cm, what is the dia-
meter of the sphere in cm?

1. 34
> 19g
i Py
4" 30

In regular octagon ABCDEFGH,
what is 2~ AEB ?

 WEELO.
v R L
3.3
4. 22}

23.

24.

25.

MLAERLEOVOBINDD o ABCD @1md
AB=AC=x o&oumolaloooowodd @
@ emo m’lcru”rm’lr&gmo ag)(® aimE(U
erumolalood ?

1.
Bl oy
gab s g
4
4 248
2

B0) CULIBOM1OMO BOY EIIL OO
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WM.  agomam1emo alj00sal® 307
VM1 2100000wd eIs8TMIHd0 a1y
Mo ag)l® eavadolailood?
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. A drop of water spreads on a glass
plate because of:

1. air pressure
2. surface tension
3. adhesion

4. cohesion

. A bucket of water is suspended from
the hook of a spring balance. Into
this water an iron ball suspended
from a beam is immersed in such a
way that it does not touch the bottom
or sides of the bucket. Then, the
weight shown by the spring balance
will———

1. increase

first increase and then decrease
remain the same /

£ LN

decrease

A glass stopper when weighed in air,
in a liquid of relative density ‘d’
and in another liquid, was found to
be ‘x* g, 'y’ g and Z’ g respectively.
Then the relative density of the
second liquid is

it —X%
(y—x)d
2. (x—z)d
(x—y)
3. X—y
(y—2)d
4, X—2
(x—yMd

-

When a bit of soap powder is put
on a wet floor, it is seen that the
water pulls away from the soap.
This i1s because

1. soap molecules repel dirt

2. surface tension is decreased

surface tension is increased

S W

soap dissolves in water

w

4.
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. 10 g of ice at 0°c is mixed with 10 g

of steam at 100°c. The resultant
temperature will be——

1. 100°
3 e
g 0%
4

none of the above

. The principle applied in bimetal

thermostat in an electric iron is
that——

1. electrical energy.can be con-
verted into heat

2. different metals conduct electri-
city differently.

3. the coefficient of linear expan-
sion of different metals is
different

4. thermal conductivity of different
metals is different

. The velocity of a sound wave in air

1S

1. proportional to the wave length.

2. independent of the wave length

3. inversely proportional to the
wave length

4. proportional to the square of
the wave length -

. The principle of forced vibration is

used in

1. earphone

2. stroboscope
3. stethoscope
4. Mmegaphone

5. 0°C gmrm”mam'lelégg 10 g D6 HG

100°C goan‘coaienas 10g mlooan

) Mm@ SHeIROMTWodd  alolema
20au"@001” agam® ?

1. 7100%¢

2. 50°C

8. 056
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9.

10.

&

| .13

13.

A glass rod is positively charged by

friction. It means that it has——

1. lost some electrons

o8

gained some protons
lost some protons

w

4. gained some electrons

For maximum efficiency the spikes
of a lightning conductor——

1. should be magnetised
2. should have spherical ends
3. should have pointed ends

4. should be insulated

Two convex lenses of focal lengths
50 cm and 25 cm are combined

together. The focal length of the
combination is——

| D LA

2. 16.25 cm

3.°°25 em

4. 37.5 cm

Which one of these colours has the
shortest wave length?

1. green
2. yellow
3. violet
4. red

Which of the following can form a
real image?

1. Plane mirror
2. concave lens
3. convex mirror
4. concave mirror

9. B0) MY%ansa: 8emaTm® agidntieme
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14.

15.

16.

A resistance marked as 2 ohms has
actually a value of 2.05 ohms. To
bring the effective resistance to the
marked value——

1. another resistance must be
connected in series

2. the current strength must be
decreased

3. the potential difference must be
increased

4. another rqsistance must - be
connected in parallel

Four condensers of capacitance | #F
each are connected as shown below,

The effective capacitance is—

1. 4puF
2. 3MF
3. 1mF
4. 2pF
Two electric circuits are shown below
—
{
81
()
B B2 By %{
() a.m
=
Lo |
Circuit 1 Circuit IT B—Bulbs

If one bulb from each cireuit is
removed, the other bulbs in

1. both the circuits will be put out
2. circuit II alone will be put out

3. circuit I alone will be put out

4. Dboth the circuits will continue
to glow

14.

15.

16.
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17.

18.

125

20.

The E.M.F developed in a thermo
electric couple does not depend on—

1. the temperature difference bet-
ween the junctions

2. the magnetic effect
the heat energy

(98]

4. the metals used in the couple

If one cell in a torch of 4 cells of
1.5 Volts is reversed, the effective
voltage——

will increase
will be zero

will decrease
~will not change

AW -

When the volume of a gas of 15g
is reduced to } of its original volume,
its mass will be

ol %
2. zero g
300
4. 45 g

The potential difference between
points P and Q of the electric circuit-
given below is——

|

If

([ Sv

dv 30v

E Q
| TN 1 T 1 1
2. 100y
3. 1980w
4. 0.75 v

17.

18.

19,

20.
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2T

22,

2%

A piece of ice is floating in a concen-
trated solution of common salt in a
pot. When ice melts completely,
the level of solution will—

go down

first go up and then go down
remain the same

g0 up

W N -

If we go deeper and deeper below
the surface of the earth, the value

of g (acceleration due to gravity)— °

1. increases

2. depends on the soil
3. der eases
4

re.nains constant

An aluminium disc has a circular
hole at the centre. When the disc
is heated, the area of the hole——

decreases
either decreases or increases

1
2
3. does not change
4. increases

. Photo electric cell is a device for

converting——

1. electrical energyinto light energy.

2. electrical energy into chemical
energy.

3. chemical energy into electrical
energy

4. light energy into electrical
- energy "

208
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25. A body of a certain mass is dropped = 25. ®1©®°aN® atlem®ave)88 B0Y AT DY

from a height of 50 m. Its poten- alem 50 alood gweamleEd miam®

tial energy and kinetic energy will @oGYD oa" Sam). @ISO MV LD

be equal—— \ Me»HodR R0 N 1eSHIBRBAIL

®1e1 50010180 —

1. at the height of 50 m. 1. 50 a%0d swoomlelowiclen)
GO T

3 when it is at 12.5 m from the 9. mowl@ mlan® 12.5 o700d p@o

g qud. oo 210011862 6MI0Te.

3. at the height of 25 m. 3. 25 %003 swommleln®loles)
GO

4. when it touches the ground 4. @no’ ©@oled aimy  eEWS)
G0 T
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.. The atomic number of an element is

17 and its atomic weight is 35. The
number of electrons in the K, L and
M shelis of its atom will be

respectively——
1. 8, 18 and 9
2 8T and 2
3. 2,8and 7
4. 2, 8 and 8

.- The element x has 6 electrons and

the element y has 3 electrons in the
outermost shells. The compound

formed by their combination may be

repiesented by the formula——

Pisex:y
2. X5
3. YaX,
¥, " yiXs

. The oxidation state of oxygen in

ozone molecule is——

i 23
2
.
4. +3

. Hydrogen sulphide' prepared by the

action of ferrous sulphide and hydro-

chloric acid is purified by passing

through water in a wash bottle.
At the end, the water is taken out
and boiled throughly. Then it will

~ contain——

sulphuric acid
sulphur

1

2 »
3. hydrochloric acid

4

hydrosulphuric acid
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: Whlch of the following is the best

elemental 0x1dxsmg agent?

phosphorus
fluorine
oxygen
sulphur

Sulphur dioxide gas is passed

through a dilute solution of scdium
hydroxide to saturation. The solu-
tion is evaporated and crystdhsed

’The salt obtamed 15-———

sodium sulphite
sodium suiphate
3. sodium hydrogen sulphxte

4. sodium bisuiphate

Which of the following gases is not
combustible?

1. oxygen :

2. hydrogen sulphide

3. carbon monoxide

4. hydrogen

. When ammonia is dissolved in water,

the solution shows alkaline property

because of the presence of ——-ions.
1. hydrogen
. 2.. hydronium
3. ammonium
g hydroxyl

. ‘ESupél phosphate * is manufactured

by heatmg rock phosphate with———

amimonium phOsphate
sulphuric acid
calcium hydroxide
phosphoric¢ “acid
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X85

14.

The most abundant non-metal on
the crust of the earth is——

1. oxygen

2. hydrogen
3. silicon

4. carbon

.- All the elements belonging to the-——

group of the Penodxc table are non
metals

1. seventh
.2, second
3. fourth

4.  first

. In the laboratory preparation of

chlorine from manganese dioxide
and hydrochloric acid, the gas is
purified by passing through two
wash botties. The first of these
contains——

——
.

dilute hydrochloric acid

water

i
3. concentrated sulphuric acnd
4. concentrated. hydrochloric acid

In bleaching cloth by the action of
chlorine, the material is immersed
in four different baths in turn.
Which of the following is not among
those used in the baths?

. hydrochloric acid
hypochlorus acid
sodium sulphite
wafter

W -

‘In which of the following liguids is

iodine least soluble?

1. chlorine water

2. aleohol =~

3. solution of hydrogen sulphide
4. chloroform
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11.

12.

13.
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15.

16.

17.

18.

52

If a solution of ferric sulphate is
described on the label of the bottle
as 0.1 M Fe,(SO,),, which of the
following describes the contents
of the bottle?

1. The solution contains 3 moles

of sulphate ions in 1 litre of the
solution.

2. The solution contains 0.1 mole
of sulphate ionsin 1 litre of the
solution

3. The soluti_on contains 0.2 mole
of ferric ions in 1 litre of the
solution

4. The solution contains 0.1 mole
of ferric ions in 1 litre of the
solution

In the reaction between hydrogen
sulphide and sulphur dioxide, hydro-
gen sulphide acts as——

1. oxidising agent
2. dehydrating agent
3. bleaching agent
4. reducing agent

A fluoride ion (F—) has the same
number of electrons as in——

1 Be2+
2. Ne
2 (o & e
4. O

When sulphur vapour falls on a cold
surface, we get——

flowers of sulphur
plastic sulphur
liquid sulphur
colloidal sulphur

W N -
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19.

20.

“ if

oA

From the following six elements
oxygen, chlorine, carbon . lead, phos-
phorus and potassium, write down
the pair that readily combine to
form an ionic compound.

1. carbon, oxygen
2. phosphorus, oxygen

3. potassium, chlorine
4. lead, chlorine
Which of the follwoing oxides of

nitrogen is the anhydride of nitric
acid?

1. NO

2.7 N0
3. N,O,
4. N,O,

. Which of the following pairs of

sulphur compounds have sulphur
in the same oxidation state?

1.” H.S and SCl,

2. Na,S,0, and Na,S,0,
3. Na, SO, and Na,S,0,
4. H,SO, and SO,

In the laboratory, silver nitrate solu-
tion is kept in brown bottles. This
is because brown bottles——

ek

protect it from heat
2. are very cheap

3. protect it from X-rays

4. protect it from light

In a closed system in equilibrium,
there is—

1. only forward reaction

2. forward reaction as well as
backward reaction

3. only backward reaction
no reaction

19.

20.

21.

22,

23.
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24 Su]phur trioxide, 80;, under normal 24: cvowomem - eman‘moarlad . USHAnd
“temperature exzsts as 99 SRIS NN ——@RaIru L
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. In rabbit, there is a total of——
incisor teeth. ;

g
PASEN:.
3.6
4. 4
. Which of the following is not a
specific mammelian character?

1. Presence of mammary glands
2. Presence of vertebral column
3. Presence of external ear

4. Presence of diaphragm

. Which of the following is an example
for even toed ungulate?

I COW

2. rhinoceros
3. ass

4. horse

. Myopia can be corrected by using—

concave lens
plano convex lens

1
2
3. cylindrical lens
4

convex lens

. A plant cell and an animal cell are
similar in that they both have——

p—
.

cyto-plasm and cell wall

2. cell wall and plastids
3. cell membrane and cell wall
4.

cyto-plasm and nucleus
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. Meiosis is biologically important

because——
1. it is the ordinary type of cell
division

2. it occurs in stages

w

it produces daughter cells

it halves the chromosome

number

Mitochondria in cells

1. have unknown functions

N

. initiate cell division n

3. are found in the cell nucleus

are centres in which oxidation

of food occurs

. The first kind of food which the

green plants make in their leaves is

starch
fat

1
2
3. protein
4

sugar

. Which. of the following theories
was put forward by charles Darwin? <

1. Inheritance of acquired chara-
cters :

2. Cell Theory
Theory of Mutation -
4. Theory of Natural selection
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10.

11.

When a pure tall pea plant was
crossed with a pure short pea plant
the first generation (F;) plants were

s short :
9. alFof intermediate si1ze€

3. some tall and some short

4. all tall

The minute particles seen on the

sides of endo-plasmic reticulum are——

12:

13.

14.

1. lysosome

2. ribosome

3. centrosome
4. chromosome

After preparing pits for planting
banana, farmers usually set fire in
them. This is to

1. destroy the bacteria and fungi

in the soil

2. increase the amount of nitrogen
in the soil.

3. decrease the water content of
the soil.

4. increase the fertility of the soil

The chromatids of a chromosome
remain held together at a specialized
region known as

1. centromere

2. R.NA.
3. D.N.A.
4. gene

Which of the following names repre-
sent the highbrid of wheat?

L. - TwD
2. LR¥®
3.0 NP2
4. H 1687
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18.

60

Trachoma is a major contageous
eye disease. The causative orga-
nism of this disease is———

1. bacteria
2. Yeast
3. virus
4

mosquito

The long and mobile probosis is
an important feature of the elephant.
The probosis is an elongation of——

1. nose+lower lip
nose + tongue

2
3. nose
4. nose+upper lip

The equation

sunlight,
6CO, + 12H, O iy
chlorophyl
C,H,,0,+6H,0+60,
represents——
1. -photosynthesis
2. respiration
3. osmosis
4. transpiration

If the-ribosomes of a cell are destro-
yed, then———— :

1. respiration will not take place
2. protein will not be formed

3. . fats will not be stored

4. carbon assimilation will not
occur i

15,

16.

17,

18.
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20.

212

H W N -

The flowers of Bougainvillea are

small in size and are without smell
and deep colour, But its petaloid
leaf like bracts' are comparatively
big with deep colour.
liarities indicate that Bougainvillea
is being pollinated by——————

1. wind

2. insects .
3. animals

4 water

A farmer wishes to produce a few
young plants from the Bread fruit
tree in his garden. The part of the
tree he has to select for this purpose

IS———

leaf
axillary bud
terminal bud

root

Rat put in an air tight glass case
in an open space dies soon. But
if plants are also grown in the same
glass case,. rat continues to live,
This is because the rat
given out by plants

oxygen
water vapour

1
2
3. nitrogen
4

carbon dioxide

These pecu-

gets——
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22. The relationship between the plants

24.

2.

62

and the bee is ‘symbiosis’. This
statement is true because——

1. it benefits the plant and though
it does not benefit the bee, it
does not harm it.

9. it is injurious to both the bee

and the plant.

3. it benefits the bee and though it
does not benefit the plant, it
does not harm it.

4. it benefits both the plant and

the bee.

. The flowers of paddy plants are small

with neither colour nor smell., Their
filaments are long, thin and pro-
truding out from the flower. These
characteristics indicate that their
flowers are to be pollinated by——

1. wind
2. insects
3. animals
4

water

In castor seed, the food is stored
in its—— '

1. cotyledons

2. plumule
3. testa

4. endosperm

Which among the following is a
viviparous snake?

1. cobra

2. rat snake
3. krait

4. viper
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1. The first ruler of the Delhi sultanate
who succeeded in getting his autho-
rity acknowledged in the south
was—————

1. Balban

2. Muhammed Bin Tughluk
3. Alauddin Khilji

4. Kutubuddin

2. The reign of ——— is generally
regarded as the golden age of the
Mughal rule.

J1.  Akbar
2. Aurangazeb.

3. Shah Jahan
4.  Jahangir

3. The Third Battle of Panipat in 1761
is considered a decisive battle in
the history of India because————
1. it laid the foundation of the
Mughal Empire

2. it enabled the British to carry
on their efforts to build a colo-
nial empire in India. '

3. it helped the rise of the Marathas

4. it destroyed the power of the
Mughals

4. The Renaissance first began in——

1. Eneland
2. Germany
3. Italy

4. France

5 The_imrpediate cause of the Refor-
mation in Germany was———

I'. the undue influecne of the Pope

the sale of indulgences of the
2: -Pope
3. the growth of trade and com-
merce

4. Renaissance
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The Industrial Revolution began in

France
Russia

Japan
Great Britain

WK -

The ‘Glorious Revolution” of 1688
got its name because———

1. it ended the rule of James II

2. James IT was not executed.

3. itenabled the people to establish
their rights without a civil war

it made William and Mary joint
rulers of England.

. By the Reform Act of 1832———

1. British Parliament ceased to be
a monopoly of the land lords

2. City labourers got the right to
vote

3. Adult suffrage was introduced

4. Women were given the right io
vote.

. The American war of Independence

led to the independence of———

1. the British colonies in North
America

2. the French colonies in North
America

3. the Portuguese colonies in
South America.

4. the Spanish colonies in South
America '
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12.

13.

14.

The English Factory at Vizhinjam
was established in 1644 during the
reign of————

1. Udaya Marthanda Varma

2. Rama Varma

3. Umayamma Rani

4. Ravi Varma

In the battle of Colachal, Marthanda
Varma defeated the

1. English

2. Portuguese
3. French

4. Dutch ¢

The objective of “Nivarthana Agi-
tation” was———

1. the fight against untouchability.

5 tO enable Ezhavas, Muslims and
" Christians get due representa-
tion in the Legislative Assembly

and Public Service

3. to remove the despotic Devan

to get the temple roads open
for all

The Fertilizers and Chemicals
(F.A.C.T) in Alwaye was started by

1. V.V Gir

2. Sakthan Thampuran
3. Sree Chithira Thirunal
raja

Pattom Thanu Pillai

Maha-

NN

The British fought the Third Mysore
war because

1. Hyder invaded Madras

2. Hyder invited Nepolean to
India

3. Tipu invaded Travancore +

4. Hyder invaded Karnataka
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16.

17.

18.

9.

68

. have it.”’

By the Government of India Act
pf 1935, autonomy was introduced
in

Provinces
Whole of India

Native States
Centre

BN R S

The first Railway line in India was
between—4+——

1. Delhi and Agra

2. Bombay and Thana
3. Delhi and Bombay

4. Delhi and Calcutta

“Swaraj is my birthright. I will
This was declared by——

Bala Gangadhara Thilak
Ravindranath Tagore
Mahatma Gandhi
Gopalakrishna Gokhale

SOW N -

First Governor General of free India
was

1. Lord Mount Batten
2. Dr. Radhakrishnan
3. Dr. Rajendra Prasad
4

Rajagopalachari

The Mughal Emperor during the
revolt of 1857 was—*——

1. Aurangazeb
Bahadur Shah II

.5
3. Bahadur Shah I
4. Shah Alam II
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20.
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22.

23.

The island given to East India
Company by King Charles II of
England in 1668 was—4—

1. Ceylon

2. Bombay
3. Laccadive
4. Andaman

The leader who organised Guerilla
war during the revolt of 1857 was

1. Tantia Topi

2. Pazhassi Raja

3. Rani Lakshmi Bai
4. Nana Sahib

India became a Republic on 26th
January 1950. lz'his day was selected
for it because —

1. the work of the Constitution of
India was completed only by
this day in 1950

2. the Indian National Congress
had observed this day as Inde-
pendance Day in 1930.

3. the day was selected as aus-
pecious by astrologers

4. the day was selected by Dr.
Rajendra Prassad to take charge
as the first President of India

Hitler started an agressive militia
known as—Z—

1. Brown shirts
2. White shirts
3. Black shirts
4

Red shirts
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The opium war was fought between
—f

1. the Opium eaters of China and
the government

2. the English and the French
3. China and the English

4. India and China

The head quarters of CENTO was
shifted to Ankara because—2—

1. Iran and Iraq are enemies

2. Turkey insisted it
3. Pakistan joined CENTO

4. Iraq withdrew from CENTO
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. The mean radius of the Earth is—

1. 4000 km
2. 6000 km
3. 5872 km
4. 6371 km

. The layer which lies beneath the
crust of the earth is known as

1. ocean floor

2. plutonic rocks

3. core

4. mantle .

. Rocks are generally classified into

three major types on the basis of
their

1. colour

2. mineral content
3. origin

4. density

. The densest part of the earth is—

1. crust

2. ocean floor
3. core

4. mantle

. The instrument used for recording
earthquake waves is

1. cardiograph

2. barometer
3. clinometer

4. seismographv

. The theory of continental drift was
proposed. by .=

Alfred Wegener
Charles Darwin

Humboldt
Karl Ritter
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. ‘Faulting may give rise to

1. rift valley or a block mountain

2. residual mountain
3. anticlines
4. synclines

. Salt lakes are usually found in—L

1. coastal plains

2. regions of high rainfall
3. mountains
4

deserts

Latitude is determined with reference
to
1. Equator

2. North Pole

3. Greenwich Meridian
4. Arctic Circle

Sri Lanka is a good example for a-

coral island
oceanic island
continental island
volcanic island

A W -

When it is 12 noon at Greenwich
meridian, the Indian Standard Time
will be— =

1. 7 AM.
2. 5-30 AM.
8. T PM
4. 5-30 P.M.

International date line runs mostly
along—+——

1. 1865 Mendlan

2. 100°E

3. equator

4. Greenwich Mendlan
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7
Tropic of Cancer is an important—*

1. Latitude

2. Great circle
3. Date line
4. Meridian

The unusually high tides found on
full moon and new moon days are
known as

1. Neap tides
2. EDbb tides
3. Spring tides
4. High tides

A ship crosses the International
date line east ward at 7 A M on
Monday. Just after crossing the
line the date changes as—%—

1. 7 AM Sunday
2. 7 A.M Monday

3. 7 P.M Monday

-

4. 7 P.M Sunday

The bed of the shallow sea border-
ing the land is known as—4—

1. continental slope
2. continental edge
3. abyssal plain

4. continental shelf

The most suitable projection for

representing polar regions is

conical projection
Mercator’s projection
cylindrical projection
‘zenithal projection
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All p0551ble details of physical and
human geography of a small area
is depicted on a—{—

Wall map
Geological map
Topographical map
Atlas map

R N N N

he famous warm current in North
tlantic Ocean is——

>

Kuro shivo
Benguela current
Gulf stream
Canaries current

B W -

The Region made up of ancient
crystailine rocks in India is——

Northern plains
Thar desert

1
2
3. Himalayas
4 Peninsular Plateaux

South west Monsoon season is from

1. March to June
TR b o

—T N
2. December to March
3. October to November

4. June to September

Renewable source of power is—i—

¥ coal
2. atomic power
3. hydro electricity

F =N

petroleum
. The largest river delta in the world
is that of —2— -
1. Ganga-Brahmaputra
3 . Indus
3. Amazon
4. Yangtze,
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24. The great cold desert of Asia is——

|

25. Bang-kok is the cpital and chief

Thar desert
2. Atacama desert
3. Gobi desert
4, Arabian desert
port of—>—
1. Malaysia
2.+ Laos
3. Cambodia
4. Thailand
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Which of the following is an econo-
“-mc activiey? -t o

1. Mother preparmg sweets at

home.
2. Father teaching = his son
economics {

3. A doctor treating a patient

4. Stamp - collecting by a° student

. A factory building is an example of

circulating capital

private capital
fixed cdpital

S W R -

. public capital

. Money may becorﬁe.', capital only
when——

1. it gives command over producer
goods

2. it is hoarded by ‘its owner
3. it is deposited in banks abroad

- 4. . it gives command over consumer
goods SR

. The Co-operative movement is good
“because——— oo o

1. it eliminates middle: man

“ 2. members ‘ha\'t‘elf‘reedom to speak

3. the management is democratic

4

4. each member has one vote :ak
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. The State Trading corporation of

India is a government agency
engaged in———

1. foreign exchange

2. issuing licenses to business men
3. foreign trade

4. Space research

. The Central Bank of India is———

1. State Bank of India
3. Reserve Bank of India
®

Canara Bank
4. Parur Central Bank

“The Operation Flood II” is asso-
ciated with———

heavy rains
flood control

milk production
. soil erosion

. The impact of “The Gereen Revo-

lution” is seen in the use of —
1. more labourers

2. more milk production

3.  more automobiles

4. more chemical fertilizers

. A typical example of an Interstate

Project is-———
1. Idukki

2. Sabarigiri

3. Parambikulam Aliyar
4. Pallivasal
India is ‘the fourth major sugar

producing country in the world.
The first place goes to——

1. Cuba :
2. Sri Lanka
‘3. Brazil

4. USSR

5.
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12.

An example of a direct tax is—

1. Customs duty
2. Excise duties
3. Income tax

4, Sales tax

Which of the following is NOT a
source of revenue for the State
Government?

1. Customs duty

2. Entertainment tax

3. Sales Tax

: _ 4. Land Revenue

7

14,

15;

16.

The Second Five Year Plan gave
moré importance to the———

1. Agricultural sector
2. International trade
3. Industrial sector

4. Science sector

The first chairman of the Indian
Planning Commission is———

1, Pranab Kumar Mukherji
2. JawaharialNehru

3. Y Pr. K.N Raj

4. Dr. VK.R.V. Rao

The economic system existing in
India 15———

1. Feudelism

2. Mixed Economy
3. Socialism

4. Capitalism

The Reserve Bank of India was
established in ———

o 21935
2. 1969
3. 1948
4. 1947
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15.
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18

19.

20.

21,

g2,

84
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The type of the taxation in which
the rate of tax is fixed is called

1. Progressive tax
2. Degressive tax
3. Regressive tax
4. Proportional tax

The most important tax revenue of
the Government of Ind1a is

1. Income tax
2. Central Excise
3. Customs duties

4. Corporation Tax

Which one of the following currency
notes is NOT put into circulation by
the Reserve Bank of India?

1. One rupee note

2. Ten rupee note

3. Five rupee note

4. Two rupee note

The oldest manufacturmg Industry
in India is————

Cotton textile .
Sugar

Jute

4. Iron and Steel

Food Corporation of India was
established in

O g
& 3971
3. 1965
4. 1956

Which of the following expressions
is most suited to Indian Economy"

1. Backward

2. Developed

3. Developing .
4. Under developed

3 i
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24.

25,

Planned economic development of -

our country began in

1. 1947
2. 1932
3. 1951
4. 1948

India has about——9% of worlds
land area

1. 24

2. -0
3. 203
4. 105

“India is a rich country inhabited
by poor people”. The reason for
this statement is

1. The majority of the people is
poor and only the minority is
rich

The Government is rich and the
people are poor.

3. The country is rich with natural
reasources, but they have not
been properly exploited.

4. The wealth of the country is
not equitably distributed among
the people.

23.

24.

25.

mam)es: eoR (O™ mgm:&(mﬂm muomu

oM AITHTUM. @YD) a|®m’ — ™
@RIBLONY .

1. 1947

2 1952

3, 19561

4. 1948

cenaomiees ejasleonomiano —
BODOIMe DOV IdM®.

R et
2 26.0 4
3. . 20ib
4, 10.5

' (BMON BMERD mrow’lo_lcru’lm&m
RO AVMION MORI®IEM DMy’ agom®
AJOM 101000 HOEM o @RemY .

1. @)0lalate BMEBTe A1 (8010 10
2l08)m WMdh0)e @R IMOTD

2. naesod qUMIOMQIle  RMETBETe

an(80)e ARV &mm"

3. casmealwonled alymeme. ealy

9 |S0mD) (s g aslealsoRgo0d
UMIMNBIW)  EIRIMOEM”  agom@)
O hoae”

4. epmywies muouom® mjelmon]
RMEBCde ] Al1eR]a))e®0s) oo 1G]
RO 1 H06ME"

85


















(=)

. The constitution of India is-—=—
1. . Federal
2. neither Federal or Unitary
3. partly Federal and partly Uni-
tary
4. Unitary

. The names and boundﬂies of States

can be changed by—
1. President of India

2. Cabinet

3. Supreme court
4. Parliament

. The President of India can be re-

moved from office by the——f—

1. Prime minister
2. Central cabinet
3. Supreme court
4

Parliament

. The Speaker of the Legislative

Assembly in a State is chosen by
the —— ;

1. People

2. Members of the Assembly

3. Governor

4. - Cabinet

. The constitution of India ¢an be

amended by the———

1. President of India
People

2 .
3. Two houses of Parliament
4. Cabinet

. The ‘oldest Parliament is the———

Indian parliament

. Japanese parliament
French parliament
British parliament
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11,

The foreign policy of India is
based on

1. The policy of neutrality

2. The policy of commitment to
communism. :

3. The policy of commitment to
capitalism

4. The policy of non-alignment

. Three states refused to join the

Indian Union in 1947. They were

1. Punjab, Kashmir and Hydera-
bad.

2. Hyderabad, Kashmir and
Junagadh.

3. Bengal, Bombay and Bihar
4. Hyderabad, Junagadh and Orisa

. The group of families hailing from

a common ancestor forms a

1. Society
2. State
3. Tribe
4. Race

A sovereign institution which fun-
ctions for the security, growth and—
prosperity of all people living within
a Geographical unit is called a——

1. Government
2. Land
3. Organisation
4. State

Sovereignty is exercised and main-
tained through the three fold fun-
ctions of the government. They aie

————

1. election, government making

~and executing ok
Prime minister, council of mini-
sters and departmental heads.

president, cabinet and parlia-
ment

legislative, executive and judi-
ciary. )
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13.

14.

15.

16.
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DirEct democracy was practised in

1. Switzerland
2. Greece

3. China

4. Rome

The constituent assembly forn?ed in
1946 was presided over by

Dr. B.R. Ambedkar
Dr. Zakkir Hussain

Dr. Radhakrishnan
Dr. Rajendra Prasad

N R S

Money bills are first introduced in
the———

1. Upper house of the parliament

2. Finance Committee
3. Lower house of the parliament
4. Cabinet

The Chairman of the Rajya Sabha
is the
President of India

Prime Minister of India
Speaker of Lok sabha

Vice president of India

WK -

In a parliamentary form o_f Govern-
ment, the real power rests in the——

Lok Sabha
Parliament
Prime Minister
President

S W -

President of India is elected through

State Legislatures
Political parties
Parliament

An electoral college
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18.

19.

20.
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y 3. 25 years
4
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The number of the members of the
State Assembilies are based or the—

1. population of the State
2. number of constituencies
3

number of members
States

districts of the State

in other

£

The council of ministers at the centre
are appointed by the President on
the advice of . the————

1. Party leaders
2. Chief Justice
3. Vice-President
4. Prime Minister

In modern states, the most important
source of law is————

1. religion

2. Judiciary
3. legislature
4. customs

The minimum age requirement for
becoming the Vice-president of India
1S———

21 years
35 years

30 years

A dlspute between two States is
sgttled by———-

I. Supreme court

High courts of the two states
Union government
4. - President of India ..
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23. Protection of interests of the sche-
duled castes and the scheduled tribes

are guaranteed in the —  —

24.

25.

1.
2

right to equality

right to freedom of conscience
and propagate religion

right to property
right to freedot

The president of India is elected for a

period of ———
1 05 years
2. 73 years
3. 6 years
4. 4 years

The two types of representatlve
democracy are ———

ks

e

parliamentary and presidential

republican and constitutional
monarchy

direct and indirect

constitutional and conventional
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24.

25.
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